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Practice

) Without calculating the slope, state whether the slope
if each line is positive, negative, zero, or undefined.

) State the rise.

) State the run.

) Calculate the slope, where possible.
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24. The slope of a line is 3. The line passes
through (2, k) and (4, 1). Find the value of k.

25. The slope of a line is —2. The line passes
through (¢, —1) and (-4, 9). Find the value of .

Werite the coordinates of two points on 4 line that satisfies
the given condition. :

26. The line rises from left to right.

27. The line is horizontal.

28. The line falls from left to right.

29. The line is vertical.

Applications and Problem Solving

30. Visualization Given a point on the line and
the slope, sketch the graph of the line.
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Find the slope of the line passing through the points.
7. (0,0)and (2, 3) 8. (0,0) and (-2, -4)
9. (1,3)and (2,7) 10. (-4, 5) and (6, 5)
11. (5,-2)and (-3,4) 12. (0,6)and (4, 0)
13. (-5,7)and (4,-2) 14. (=2, 5)and (0, 8)
15. (=6,~5)and (0,0) 16. (-8, -7) and (4, -3)
17. (5,7)and (5, -3) 18. (-6, -1) and (-2, 5)
Find the slope of the line passing through the points.
19. (3.4, 1.6)and (54, 2.2) L
and (2, 3 l)
2
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20. (0,—1.7) and (0.3, 3.8)

21. (11.9,~2.3) and (154, 8.2)
22. (l, 4) and (2,-6) 2. (1, 11)
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